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Guess Paper – 2010
Class – XII
Subject – Accountancy
 Time:3Hrs


SET- B
M.M: 80

	General Instructions:

1. This question paper contains three parts A,B and C

2. Part A is compulsory for all

3. Attempt only one part of the remaining  parts B and C

4. All parts of questions should be attempted at one place


PART-A   Partnership and company Accounts
1
Although Not for profit organisation’s doesn’t aims at earning profit still why 

there is need of accounting ?
1

2
A and B are partner sharing profits and losses in the ratio of 1:1. Their capital contribution on 1 April 2009 were Rs 2,00,000 and 3,00,000.Interest on capital  is 5% p.a. During the year there is loss of Rs 2,00,000 .Calculate the amount of interest on capital to be credited to partner’s capital A/c .   1
3
Why it is necessary to revalue Assets and liabilities at the time of admission of partner?
4
Why it is necessary to write off goodwill appearing  in the books at the time of Reconstitution of partnership?

5
What do you mean by  reserve capital ?
6
Calculate the amount of stationery that will be debited to income and expenditure A/c on 31st march,2009 

i)

Stock of stationery on 1st April,2008



Rs . 7,000


ii)
Creditors for stationery on 1st April 2008


Rs.  5,500


iii)
Advance paid for stationery on 31st march,2008

Rs  .1,400


iv)
Amount paid for stationery during the year


Rs. 16,800


v)

Stock of stationery on 31st March,2009


Rs.   3,500

vi)
Creditors paid for stationery on 31st March,2009

Rs.   1,650


vii)Advance paid for stationery on 31st march,2009

Rs.   1,850

7     Y Ltd has an authorized capital of Rs. 1,00,000 divided in to equity shares of Rs 10 each. The company offered 5,000 shares. Applications for 4,000 shares were received. All calls were made and duly received except the final call of Rs 2 per share on 100 shares. Out of these 75 shares were forfeited. Show how it will appear in the balance-sheet of the company as per schedule VI part I of Companies Act ,1956
8  
R ltd forfeited 400 shares of Rs 10 each on which first call was not received. 
The final call of Rs 2 per share  has not yet been called. Out of 100 shares were reissued as Rs 8 paid up for Rs 7 per share. Journalise the above Transactions
9

Joy Ltd acquired assets at Rs 50 lakhs took over creditors of Rs 5lakhs from 


Ram Ltd. Joy Ltd issued 5% debentures of Rs 100 each at 10% discount as 


purchase consideration. Record necessary journal entries in the books of Joy  
Ltd
10
The capital accounts of P,Q and R stood at Rs 1,50,000,Rs 1,80,000 and 


Rs2,10,000 respectively on 31march 2009 after division of  profit. during the 


year they with drew Rs 20,000 each. The profit of the year was Rs 60,000 . 


The partnership deed provided that interest on capital @10% p.a. while 


preparing the final accounts interest on partner’s capital was not allowed. 


Pass necessary journal entries
11
A,B and C were partner in the ratio of 3:2:1.Goodwill exists in the books at a 
value  of Rs 28,800. B retires and on the date of retirement goodwill was valued at 72,000. New ratio of A and C is 3:2. Pass the necessary journal entries for goodwill
12
From the following Receipts and payments account of  Ambuja club, prepare an income and expenditure account for the year ended 31December, 2004











Receipts and payments Account






(for the year ended 31Dec.,2004)


	Receipts
	Rs
	Payments
	Rs

	To Balance b/d
To subscriptions

    2003                            250        

    2004                         1,000

    2005                            200

To Rent

To Profit from entertainment

To sale of newspaper


	[image: image1.png]350
1450

700

400

100

3,000


	By salaries
By General expenses

By Electric charges

By Books

By Newspaper

By Balance c/d
	1,400
   300

   200

   500

   400

   200

3,000


a) The club has 50 members each paying an annual subscription of Rs 25. subscription outstanding on 31st December,2003 were Rs 300.
b)  On 31st December ,2004 salaries outstanding amounted to Rs100. Salaries in 2004 included Rs 300 for 2003

c)  On 1-1-2004 the club owned building at Rs 10,000,furniture Rs 1,000 and Books Rs 1,000

d)  Provide depreciation on furniture @10 % 

13 R and S were partners in a firm sharing in the ratio of 3:2. Their balance on 28-2-2009 were as follows


	Liabilities
	Amount
 (Rs)
	Assets

	Amount

 (Rs)

	Creditors
Outstanding Expenses

Capital Accounts

    R

    S


	25,000
5,000

90,000

1,20,000

2,40,000
	Buildings
Plants

Stock

Debtors

Cash


	1,00,000
40,000

30,000

45,000

25,000


2,40,000




On the above date the firm was dissolved. Stock was taken over by Rat a discount of 10%. S took over debtors for Rs 40,000. Plant was sold for Rs 30,000 and Building Realised Rs 80,000.S agreed to pay creditors paid outstanding expenses. Expenses of Realisation amounted to Rs 7,500.Prepare Realisation Account, cash A/c and Capital A/c
14 Pass necessary journal entries in the books of company in the following cases for redemption




a)
 1,000 , 12% debentures of Rs 10each at par, redeemed at a premium   

                   of 10% by conversion into equity shares of  Rs 100 each at a premium 
                   of 25%






b) Purchased own 5,000, 8% debentures of Rs 1000 at Rs 987 per debentures for cancellation

c) A Ltd has 4,000,8% debentures of Rs 100 each due for redemption. The company has DRR of Rs 1,50,000 on that date.

15 A, B and C were equal partner. Their Balance as at 31 Dec , 2009 is given below









      Balance Sheet





As at 31 December, 2009

	Liabilities
	Amount

Rs.
	Assets
	Amount

   Rs.

	Bills payable

Creditors

General Reserve

Profit and Loss A/c

Capital

A

B

C
	20,000
40,000

30,000

  6,000

60,000

40,000

32000
	Bank
Stock

Furniture

Debtors                     45,000

Less: provision           5,000


Land and building
	20,000
20,000

28,000

40,000

1,20,000

	
	2,28,000
	
	2,28,000


B Retired on 1st January.2010, A and C decided to continue the business as equal partner on following terms
 i)
Goodwill of the firm was valued at Rs 57,600

ii)
Provision for doubtful debts to maintained at 10%

iii)
Land building to be increased  to Rs 1,32,000

iv)
Furniture to be reduced by Rs 8,000

v) Rent outstanding was Rs 1,500

vi) The remaining partner decided to bring sufficient cash to pay off B and to maintain a bank balance of Rs 24,800. They decided to readjust their capital as per new profit sharing ratio

Prepare Revaluation A/c,Partner’s Capital A/c And Balance sheet







OR
Beena and Sudha were partner in the ratio of 3:1. Their balance sheet as at 31st December 2002 was as under:





           Balance Sheet





             As at 31 December, 2002

	Liabilities
	Amount

  Rs.
	Assets
	Amount

   Rs.

	Salary outstanding

Sundry creditors

Capital Accounts

Beena                 81,600

Sudha                 37,200
	6,000
43,200

1.18,800
	Cash
Debtors                    28,800

-  provisions                  960

Stock

Plant and Machinery

Goodwill

Profit and loss


	9,360
27,840

6,000

96,000

9,600

19,200

	
	1,68,000
	
	1,68,000


Anita was admitted into partnership and the following terms were agreed:
i) 20% depreciation was charged on plant and machinery

ii) New profit sharing ratio will be 5:3:2

iii) 5% provision was made on debtors

iv) Goodwill was valued at Rs 24,000

v) Anita will bring Rs 24,000 as her share of capital and capitals of Beena and sudha to be adjusted on the basis of her capital. Actual cash to be brought in or withdraw by the partner , as the case may be

You are required to prepare revaluation account, capital account and Balance sheet of the new firm

16 ARYAN Ltd invited Applications for issuing  90,000 equity shares of Rs 10 

each at adiscount of Re 1 per share  payable as

Rs. 3 per share on application








Rs. 2 per share on allotment


Rs. 4 per share on final call


Applications for 1,20,000 shares were received. Allotment was made as follows 











LIST-I .  Applicants of 15,000 shares were allotted in full


LIST-II.  Applicants of 45,000 shares were allotted  30,000 shares on pr-rata basis


LIST-III Applicants  of 60,000 shares were allotted 45,000 shares on pro-rata basis
All the shareholders paid the amount and call except ‘A’ ( who was allotted 3000 shares under list II ) and B (who was allotted 4,500 shares under List III). They did not pay any amount due on allotment and final call. Their shares were  forfeited after final call and reissued at Rs 6 per share





OR
A Ltd issued a prospectus inviting applications for 2,000 shares of Rs 10 each at a premium of Rs 3 per share, payable as follows
On application Rs 2; on allotment Rs 6 ( inc. Premium) ;on first call Rs 3 ;on final call Rs 2
Applications were received for 5,000 shares. 2,000 shares were rejected and remaining got pro-rata allotment

M to whom 40 shares were allotted failed to pay the allotment money and his  subsequent failure to pay the first call his shares were forfeited. S the holder of 60 shares failed to pay the two calls and his shares were also forfeited after second call. Of the shares forfeited, 80 were sold to ‘L’ as fully paid up, paying Rs 9 per share , the whole share of M  were included. Journalise the transactions





PART-B



Financial statement analysis
17 State any two items  that can be shown as contingent liabilities
18 Preparation of cash flow statement ignores which accounting concept ?

19 Name any one activity which is financing activity for both financing and Non-financing Enterprises

20 
Explain any three limitations of ratio analysis
21  From the following data prepare a comparative income Statement:

	particulars
	2008 (Rs)
	2009 (Rs.)

	Sales

Cost of goods sold

Indirect expenses

Income tax
	14,00,000

60% of sales

50% of G.P

50% of N.P
	16,00,000

50% of sales

40% of G.P

50% of N.P


22
Rs. 2,40,000 is the cost of gods sold; Inventory turnover= 8times; stock at the  beginning is 1.5 more than at the end. Calculate value of opening and closing stock
23
Calculate cash flow from operating activities








Profit and loss A/c

                                (for the year ended 31st March 2008)

	particulars
	Rs.
	Particulars
	Rs

	To cost of goods sold

To salary

To rent

To selling exp.

To Depreciation

To  Loss on sale of assets

To goodwill written off

To  payment of tax

To net profit


	12,50,000

50,000

40,000

90,000

1,30,000

30,000

20,000

55,000

3,50,000


	By sales

By interest received


	20,00,000

15,000



	
	20,15,000
	
	20,15,000







As on 31st march,,08

As on31march,07







  ( Rs. )


       (Rs. )


Debtors



3,00,000


 2,50,000


Creditors


1,00,000


 1,15,000


Stock



2,30,000


 1.60,000



O/s salary


     8,000


     5,000

                                  Accountancy-
XII

Time:3Hrs


SET- A





M.M: 80

	General Instructions:

5. This question paper contains three parts A,B and C

6. Part A is compulsory for all

7. Attempt only one part of the remaining  parts B and C

8. All parts of questions should be attempted at one place


PART-A   Partnership and company Accounts
1 Why surplus of Not for profit organisation is not distributed among the members?
1
2 Why interest on drawing is charged by the firm 
1
3 Why new partner  brings some additional amount(goodwill)  or he may agree to raise goodwill A/c  to credited in existing partner capital ?
1
4 What are the two modes of dessolution?
1

5 What do mean  forfeiture of shares?
1

6 Show how would you deal with these in the books of city cricket club, Raipur



Rs


prize fund
10,000


Interest on prize fund investment
1,000


Prizes paid
2,000


Prize fund investment
8,000

7 B.M Ltd forfeited 200 shares of Rs. 100 each issued at a discount of 5% on which Rs 50 per share has been called and Rs. 6,000 has been paid. The company then reissued the above shares for Rs18,000 as fully paid up. Pass necessary journal entries
8 Hemant Ltd has an authorized capital of Rs 6,00,000 which is divided in to equity shares of Rs 10 each. The company invited for 40,000 shares. Applications were received for 20,000 shares. Final call of Rs 2 on 1,000 shares was not received . The directors of the company forfeited the shares and after some time, reissued 800 shares of the forfeited shares at Rs 9 per shares. Show how share capital will appear in the balance sheet

9 R and S are partner in a firm. Their capital as on April 01, 2005 showed a balance of Rs 2,00,000 and Rs 3,00,000 respectively. On July 01 2005, R introduced additional capital of Rs 50,000 and S Rs 60,000. On oct. 01 2005 R withdrew Rs 30,000 and on January 01, S withdrew, Rs 15,000 from their capitals. Interest is payable @ 8% p.a. Calculate interest on capital during the year 2005-2006

10 Pass necessary journal entries from the following at the time of dissolution

     i) partner Mohan was responsible for realisation expenses and for that he     was entitled to get remuneration of Rs 3,000. Actual realisation expenses were Rs 3,500 paid by the firm


ii) P & L account on the asset side of balance sheet was Rs 30,000


iii) Stock worth Rs 2,000 were taken by  partner K

11 Pass necessary journal entries for the issue of 8% debentures in the following cases


i) 100 debentures of Rs. 100 each  issued at Rs 105 and repayable at Rs 

    105


ii)  100 debentures of Rs 100 each issued at 108 and repayable at


     Rs 100 each 


12

From the following Receipts and payments account of  Ambuja club, prepare an income and expenditure account for the year ended 31December, 2004






Receipts and payments Account






(for the year ended 31Dec.,2004)
	Receipts
	     Rs
	Payments
	     Rs

	To Balance b/d

To subscriptions

    2003                         1,000        

    2004                       10,000

    2005                           500
To Profit from entertainments
To interest 
	5,000

11,500

200
150


16,850
	By salaries

By Rent

By Stationery
By Water and power
By furniture
By Newspaper

By Repairs

By Refreshments

By Balance c/d
	2,000
 1,500
800

1,500

5,000

1,800

200

1,000

3,050


16,850


i) Club is having 500 members each paying subscription of Rs 2 per month

ii) Rent was Rs 150 per month

iii) prepaid salary for the year Rs 200

iv) In 2003, Rs. 5,000 were deposited in fixed deposit A/c , carrying interest  

    @ 6% p.a


v)The other assets on 1st Jan. 2004 were : Furniture Rs. 8,000 and sports   

     equipment Rs. 4,000


vi) Depreciation is to be provided @ 10% on furniture and sports equipments
Prepare income and expenditure A/c for the year ending 31st Dec, 2004
13 P, Q and R were partner in the ratio of of 5:3:2 respectively. On 31 march, 2009 their balance sheet was as under:


   



Balance Sheet


	Liabilities
	Rs
	Assets
	Rs

	Sundry creditors

Workmen com. Reserve

General Reserve

Capital Accounts

P

Q

R


	1,86,000

12,000
24,000

1,80,000

1,50,000

90,000


	Goodwill

Building

Patents

Machinery

Debtors

Cash at bank
	30,000

1,20,000

36,000

1,80,000

2,28,000

48,000

	
	6,42,000
	
	6,42,000


On 1st August 2004, R died. It was decided that:
i) Goodwill will be valued at 21/2  years purchase of the average profits of the past 4 years. Profits for the precedings years were Rs. 66,000 , Rs 80,000 , Rs 1,00,000 and Rs 90,000 respectively.

ii) Machinery was reduced by Rs 12,000
iii) Patents to be valued at Rs 48,000

iv) Building was increased by Rs. 30,000

v) For the purpose of calculation of R’s share of profit , the profit of 2001-2002 should betaken  as base

vi) Rs 25,200 were to be paid immediately to R’s executor and balance amount will be paid in four equal  yaerly instalments  @ 10% p.a



You are required to prepare revaluation a/c, , R’s capital a/c and R’s executor’s A/c

14 i) A company redeemed 1000, 15% debentures of Rs.100 each by converting them to 12% preference shares of Rs. 100 each at 25% premium and 500, 15% debentures of Rs. 100 each by purchase in the open market for immediate cancellation @ Rs 95
    ii) Vijay Ltd acquired assets of Rs. 40 lakhs and  took over creditors of Rs. 4 lakhs from Sunil Enterprises. Vijaya Ltd  issued 12% debentures of Rs 100 each at par as  consideration .Pass necessary journal entries in the books of Vijaya Ltd
15 Radhika Ltd invited applications for 75,000 shares of Rs 10 each issued at a premium of Rs 4 per share payable as
On Application Rs 5( including Rs 2 premuim)

On Allotment Rs 5  ( including Rs 2 premuim)

Balance on first and final call

Applications were received for 1,00,000 shares were received. Allotment was made to all the applicant on pro-rata basis. Puneet to whom 300 shares were allotted failed to  allotment and call money. Sumeet to whom 150 shares were allotted  failed to pay the call money. These shares were forfeited and reissued at Rs 8 per shares fully paid up



OR

P  and Z Ltd  issued and subscribed 32,000 shares payable as Rs 4 on  application, Rs 2 on  allotment, Rs 2 on first call and Rs 2 on final call


The amount received ed were as follows

O 24,000 shares   full amount

On 5,000 shares Rs 8 per share

On 2,000 shares Rs 6 per share

On 1,000 shares Rs 4 per  share

The directors forfeited 3,000 shares on which less than Rs 8 per share was paid and reissued @ Rs 8 per share as fully paid up




16 A, B and C were  partner in proportion of their capital. Their Balance as at 31 Dec , 2009 is given below





      Balance Sheet





As at 31 December, 2009

	Liabilities
	Amount

Rs.
	Assets
	Amount

   Rs.

	Creditors

General reserve
Capital

A                        80,000
B                        40,000
C                        40,000
	21,000

20,000
1,60,000
	Bank

Machinery
Stock

Debtors                     20,000

Less: provision          1,000

Land and building
	14,000
48,000

18,000

19,000
1,00,000

	
	2,01,000
	
	2,01,000


B decided to retire on above date. They agreed to following adjustments in the books of Accounts
i)
Building to be appreciated by 20%

ii) 
The provision for bad and doubtful debts to be increased  to 15% on debtors
iii)
Machinery to be depreciated by 20%

iv)
Goodwill of the entire firm to be valued at Rs 72,000.

v)     A and C also decided that the capital of the new firm to  be fixed at  Rs 1,20,000 in their profit sharing ratio i.e., actual cash to brought in or paid to a partner as the case may be

You are required to prepare revaluation account, the capital A/c and balance sheet

            OR
The following is the balance sheet of A and B, who were partner in a firm as on 31st Dec 2004

	Liabilities
	Rs
	Assets
	Rs

	Sundry creditors

Bills payable
Mrs A’s loan

Mrs B’s loan

General reserve

Investment fluctuation fund

Capital Accounts

A

B
	30,000
8,000

5,000

10,000

10,000

1,000

10,000

10,000
	Cash in hand
Cash in Bank

Stock 

Investments

Debtors               20,000

-  Provisions          2,000

Plant

Building

Goodwill

Profit &loss A/c


	500
8,000

5,000

10,000

18,000

20,000

15,000

4,000

3,500



	
	84,000
	
	84,000


The firm was dissoloved on 31st dec. 2004 on the following terms

i) A promised to pay  Mrs A’s loan and took over stock at Rs 4,000

ii) Debtors realised Rs 19,000

iii) Creditors and bill payables were paid at a discount of 180

iv) Plant realised Rs 25,000, Building Rs 40,000, goodwill Rs 6,000 and investments at Rs 9,000

v) There was an old type writer completely written off was taken by B at Rs 300

vi) Realisation expenses were Rs 1,000

Prepare realisation A/c, partner capital A/c  and cash A/c




                                   PART-B




Financial statement analysis
17 Show the heading of the following items  in company’s balance sheet

i) preliminary expenses ii) Fixed  deposits

18 State operating activities of real estate business

19 What do you mean by extraordinary items

20 The current ratio of a company is 2:1 . State giving the reasons which of the following transactions would i) improve ii) reduce or iii) not alter the current ratio:
a) sale of goods for Rs 11,000 (cost Rs10,000) 

b) Payment of dividend already declared

c) B/R dishonoured

21 a) Average stock carried by trader is Rs 60,000. Stock turnover ratio is 10 times. Goods are sold at profit of 10% on cost. Find the profit
b)  Opening stock Rs 29,000; closing stock Rs31000; sales Rs3,00,000; gross profit 25% on cost. Calculate stock turnover ratio
22 The following is the balance sheet of kausal Ltd as on 31-12-2008 and 31-12-2009 were as follows:

	Liabilities
	2009
	2008
	Assets
	2009
	2008

	Share capital

Profit and loss a/c

Proposed dividend
	12,60,000

3,15,000

63,000
	8,82,000

1,89,000

50,400
	Machinery
Inventory

bank
	10,08,000
1,26,000

5,04,000
	6,30,000
94,500

3,96,900

	
	16,38,000
	11,21,400
	
	16,38,000
	11,21,400


Additional information:

a) Rs 63,000 depreciation has been charged to machinery during the year 2009

b)  A piece  of machinery costing Rs 15,120 (book value Rs 6,300) was sold at 60% of book Value

Prepare cash flow statement for the year 
 31 dec 2009
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